‘j_ﬂgngﬁjmdbaﬂ ML‘I.;!J')LH! as L n)f
S O TR R
S I e T X

LLLTET R L
R

1
[ B

H
TUIELE O




Giloo g pwJbail Vab Juwiliy BMs|  asli o) K Sl ool

PO S
nYoar
F
R m 1
CORTED, I"in. |
VaLTEGE
N a-—
. I
BTl 71 - —

i
FsEr o——f uzr

1
DISIHARAS s

'}

ull

Gl g grw Jlail  Vab Juwdln dMusl  asls o S sl bl

. s
~RESHNED —— 0l .
I"L.K:;
CoRTRO. = RE N 4
wiLTags 4
1 < R . l = i
[T ) S— s ok wg b nuTALT
s b
; 4
TRIGDER o——————— ] "T-“p
-
* RE
' Ly
[ R s
1 L
DIZEHARDE >




]
THEERHI D ] X

GORTRIL T 120 b f;
WILTALE .
] £ " l 1
G e I 1:'] Luu: a7 QUTRIT
i P
: s 8 c:j—
TRIZGES < 1 n;_a e
M ||

DISCHARZE

u-i}

Silae 9.5 JLail Vab Sl Bl asLl

TeRESMOLD
cokTRDL S, RN
VOLTEGE
BRET
“RIBEET &
§
RESET 05
¥
DISLHARGE r—,
o4




&lg0 95w Jlail  Vab Jously 3L

]
THEESFMIE —f @
1
nrATRO. o EAY
WOLTALE
o _.u—{l—L‘l HuTEgT
-— O
2
T TTTEY I T S n L
H1]
un 1]
1
5 R& ([t}
SESET O——d Cah ] 1k
! -
B REE
(L] I-

53la0 9,5 yw JLail VabJ......;Lq,u)L.—-l axls o,F e Sy Ladl

ﬁ[__” N 31

t v L
TERESRM D G— 0 L s J
T
B am £ s
CoMIRgL L BT el w
WILTAZE ©
! "
Lh Y I e
-
L
i ui r.!:]—-m s
[ THH B Sk — —] n Atk ".'- |
e 8
[
: v 'l "
SESET i)
T = @
ML =B TR |
(1L ]




CORTRDL T Vel
TULIAkE

1
By —

-

ﬁ F .

niscraner

fad

Vab = 2/3 Vcc - 1/3 Vee = 1/3 Ve

Slalil (g ed puwccdy polic s gy polic V7




o Uiog Sl ple s bz 100 yiun' gl o oy 510 7

Al 512l asl Too 19 35 90,518 Jians 290 Jalo Jlin ;905,28 fka sl /7




i S 55 (355

pu'np preasure
vollage drop

oy SiPl sl els v
. E i (Ion ww«

b i Loty ‘,ﬂ S0 5 8 ¢ Ayl S g8

- (055 tan\rg p Hdp‘e&gﬁw

L
elecinge current = rate of waler low
e e— Oledl p2 5l 35 b Cwl (ySo0
drop

A3 oy U Lol ¢ 005 penii 5Lg

g neblys 5l oylod 4y ¢ Jol alaii

rosistanco

edectric curent ltow
B ——————

g p5 Jlidg (40518

pump pressure

- yollage drop ) )\D ubu)ugéw(\_&? /

- Toe :
. E a le’" mm o ] }ﬂaﬁw )‘J.D

pump = battary =
YA VGnd = Vbattefy = Vresialor o= VGnd
shells &

= rasistance
e

A
eleLlrnic Curremt - rate of waler flow \l
= D = 3 ) ¥

resistance

electric current fNow




Sl els

63l 1in b 993 o 8,y S araS 5 s o v

'“""‘*‘"'J'?‘)'.’ JWC)BQTjHS

el oo 955 S0 B by sy g0

1=12+13 +16

6=14 +15

M=12+13+14+15
+6-14-15=0

11=12+13 +16 16 =14 +15

S dndllao gy w55l SO g st ] S U i

http://www.play-hookey.com/dc _theory/index.htm|

\- =i sanas rl=y - -1 vy o : ~ N esten et 11f N
nitp://www.play-hookey.com/dc theory/basi Ircult ‘

http://www.play-hookey.com/dc_theory/ohms_law.htm|




KCL g KVL 3,80 55 i1 o3 9 Jlio J> v

O 9 Py Jolee




